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@ Essential BEC = 4st Kiad BC : U=g, on P‘F C'\'/Za‘k,Vo,,\)

Ast Version: Hom ogzm'w!a:HbQ
® U= 9,(x) ¥ye, =w, \w,
® updale the RHS: 4l 'f(‘)- § K'1 q1(x‘°’)
: 1€% —
- Yew, (¥ced)
® cancel the columns with the judices {€ ¥,
@ caucel the rows with the iadices ce§,

dnd Verscou Pen'aHg ‘fecfnm‘que
K := 40°, f9h= 10°9,(x*) Yiey,

= Y= 9~ 40‘5655: K,:o Uy Ql’lh S ~saff. /4(}:.’ |

this corresponds 40 3rd Kied BC with or=40%!

3ed Verson: K, = Ky =4, Vc'eé’k Ve, wd
3¢~y "9y J
9 = g 0x0) Wie g

B RESULT: Sysiem of FE equations for
dederminiag the unlnown nodal
valuee uY ) LE QW !

0) Cons«'den&zj Ast Kind BC via 154 veraon
: M
(1), Find u-= [W)iew e R *: Kyu,=f, in R
Cir) Comsidering Ast Kind BC via 2ud or 3ed version:

(i)h Find Hh-"‘- [um]ieqe {RM‘: Kh gk'&"_f_h I fﬂ“'



